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Assessment 9 Review Color Block

Learning Goals
[ can...

e Use the properties of quadrilaterals to find a missing angle measure N

e Use the properties of parallelograms to solve for missing variables

e Use the properties of trapezoids to solve for missing angles

e Find area and perimeter of different shapes (square, rectangle, parallelogram, trapezoid using given
formulas

“Find the area and circumference of circles

Find the area and perimeter of compound shapes (shapes made of other shapes)
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2. Parallelograms

a. Find the valuesof x andy .
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¢. Find the values of x and y
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d. Find the values of x and y
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f. Find the values of x and y
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3. Trapezoids

a. Find the measures of the missing angles

TSesceleS
T R 3
150 s
< N )

c. Find the measures of the missing angles

Irs OSCQ,O,Q-S

/180 -73
63 °

e. Find the measures of the missing angles.
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b. Find the measures of the missing angles
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d. Find the measures of the missing angles
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4. Find the area and perimeter of the shapes below
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5. Find the area and circumference of the circles below Mtd e 4o ﬁOQQ 95
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